Navigation - Airplanes
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Similar b River Crossings

We will be vs'mg +he followina vector additon

Vp = V¢loc|'+5 of +he plane (o.irspeed)

Vu Velocity of +he wind (wind speed )
—
V3 = vclocHy of +the plane as seen from +he 3round ( gmund syeed)

-
+hat VP and T/:: will  almoest+ never

Our bl’j challenje now is
need v brak our vectors

be perpendicwlar 1t each other. We'll

inte  components .
—
Ve

Example : A plane has & valoc'ntj of 50™/s ot 30° NoFE and it

encourters 0 wind _of 25Mfs at 45°E of S. What is the
V¢Ioc'|+3 as seen from the 9rou.nd? Vw

- — g
Vp-l- Vw = Vj

— -
Vp = 50™k at 30" N o E Vw = 25™c ot 45° € of S

«ls
< y v 25™/s
3
* X
X = 5000830 = 4330 — X = 25sin4S = 7,68 —
= 1763 ¥

y = S0sin30 = 25 t Y = Z5cs45

43.30 + 17.b8 = 60.98 —

X~ COMP H
25 + (-1n.e8) = 732 1

lj’ comp
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R* = (60.98)* + (1.32)"

| S
/HO/T-LBL '\!‘-R_" - r—3'l'72_.|'+7—3

©0.98 R = 6l.4 M
( 1.32 .
0= +un” (w0.9%8) = 6.8
8- °

6l.L4™f5s at 1° N of E

Complete remainder of worksheet
questons  ( # 9 -12)
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